

NAME :- AMADIKE CHIDERA LILIAN

DEPARTMENT :- COMPUTER ENGINEERING

MATRIC NO. :- 19|ENG02|005

$$1) \int \frac{11 - 3x}{x^2 + 2x - 3} dx$$

$$\int \frac{11 - 3x}{(x+1)(x-3)} dx$$

$$= \frac{A}{(x+1)} + \frac{B}{(x-3)}$$

$$\frac{A(x-3) + B(x+1)}{(x+1)(x-3)}$$

$$11 - 3x = A(x-3) + B(x+1)$$

$$\text{at } x = 3$$

$$11 - 3(3) = A(3-3) + B(3+1)$$

$$11 - 9 = 4B$$

$$\frac{2}{4} = \frac{4B}{4}$$

$$B = \frac{1}{2}$$

$$\text{at } x = -1$$

$$11 - 3(-1) = A(-1-3) + B(-1+1)$$

$$11 + 3 = -4A$$

$$14 = -4A$$

$$A = -\frac{7}{2}$$

We can now write

$$= \int \frac{-7/2}{(x+1)} dx + \frac{1/2}{(x-3)} dx$$

$$= \int \frac{-7}{2(x+1)} dx + \frac{1}{2(x-3)} dx$$

$$\int \frac{-7}{2x+2} + \frac{1}{2x-6} dx$$

$$-\frac{7}{2} \ln u + \frac{1}{2} \ln u$$

$$\frac{1}{2} \ln(x-3) - \frac{7}{2} \ln(x+1) + C //$$

$$2.) \int \frac{2x^2 + 9x - 35}{(x+1)(x-2)(x+3)} dx$$

$$\frac{A}{(x+1)} + \frac{B}{(x-2)} + \frac{C}{(x+3)}$$

$$\frac{A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)}{(x+1)(x-2)(x+3)}$$

$$2x^2 + 9x - 35 = A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)$$

$$2x^2 + 9x - 35 = A(x^2 + x - 6) + B(x^2 + 4x + 3) + C(x^2 - x - 2)$$

$$2x^2 + 9x - 35 = Ax^2 + Ax - 6A + Bx^2 + 4Bx + 3B + Cx^2 - Cx - 2C$$

$$2x^2 + 9x - 35 = Ax^2 + Bx^2 + Cx^2 + Ax + 4Bx - Cx - 6A + 3B - 2C$$

$$A + B + C = 2 \quad \text{--- ①}$$

$$A + 4B - C = 9 \quad \text{--- ②}$$

$$-6A + 3B - 2C = -35 \quad \text{--- ③}$$

from eqn ①  $A = 2 - B - C$

substitute in ② and ③

$$C(2 - B - C) + 4B - C = 9$$

$$2 - B - C + 4B - C = 9$$

$$3B - 2C = 7 \quad \text{--- ④}$$

$$6(2 - B - C) + 3B - 2C = -35$$

$$12 - 6B - 6C + 3B - 2C = -35$$

$$-3B - 8C = -23 \quad \text{--- ⑤}$$

$$3B - 2C = 7 \quad (\times -1)$$

$$-3B - 8C = -23 \quad (\times 1)$$

$$-3B + 2C = -7$$

$$-3B - 8C = -23$$

$$\frac{10C}{10} = \frac{16}{10}$$

$$C = \frac{8}{5}$$

Substitute C in ① and ④

$$A + B + \frac{8}{5} = 2$$

$$A + B = \frac{2}{5}$$

$$A - 4B - \frac{8}{5} = 9$$

$$A - 4B = \frac{53}{5}$$

$$A + B = \frac{27}{5}$$

$$-A - 4B = \frac{53}{5}$$

$$5B = -\frac{51}{5}$$

$$\frac{25B}{25} = \frac{-51}{25}$$

$$B = -\frac{51}{25}$$

Substitute B and C in eqn ①

$$A + \left(-\frac{51}{25}\right) + \frac{8}{5} = 2$$

$$A - \frac{11}{25} = 2$$

$$A = \frac{61}{25}$$

$$\int \frac{61}{25(x+1)} dx - \frac{51}{25} \int \frac{1}{(x-2)} dx + \frac{8}{5} \int \frac{1}{(x+3)} dx$$

$$= \frac{61}{25} \ln(x+1) - \frac{51}{25} \ln(x-2) + \frac{8}{5} \ln(x+3)$$

$$= \frac{61}{25} \ln(x+1) - \frac{51}{25} \ln(x-4) + \frac{40}{25} \ln(x+3)$$

31)

$$\int \frac{1}{(x^2+12)} dx \quad \int \frac{1}{(x^2+11^2)} dx$$

$$x = 11 \tan \theta$$

$$dx/d\theta = 11 \sec^2 \theta$$

$$dx = 11 \sec^2 \theta d\theta$$

$$\cancel{x^2 + 11^2} -$$

$$x^2 + 11^2 = 11^2 \tan^2 \theta + 11^2$$

$$11^2 (\tan^2 \theta + 1)$$

$$11^2 \sec^2 \theta$$

$$\Rightarrow \int \frac{11 \sec^2 \theta d\theta}{11^2 \sec^2 \theta} = \int \frac{d\theta}{11}$$

$$\frac{1}{11} \int d\theta = \frac{1}{11} [\theta] + C$$

$$= \frac{1}{11} \tan^{-1} x/11 + C //$$